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General Instructions :

(i) There are 36 questions in all. All questions are compulsory.

(i))  Marks for each question are indicated against the question.

(iii)  Questions from serial number 1 to 16 are multiple choice questions
(MCQs) of 1 mark each. Every MCQ is provided with four
alternatives. Write the correct alternative in your answer-book.

(iv)  Questions from serial number 17 to 29 are 3 marks questions.
Answer of these questions should not exceed 80 words each.

(v)  Questions from serial number 30 to 34 are 4 marks questions.
Answer of these questions should not exceed 100 words each.

(vi)  Question number 35 is a map question of 2 marks from History and
Question number 36 is a map question of 3 marks from Geography.

(vii) Attach the filled-up maps inside your answer-book.
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1. F=fafea 14 9 fre 9 geeht’ Tme uh 7w wre s ?
(A) 31 A foredh |
(B) gay HfsHt
(C) Bt
(D) ATEH TEHS T

AYAT

freferfaa # & fore 39 % e & e fagaam & efaoft sy ot g wreft?
(A) = feme fau

(B) ==

(C) SI3MER

(D) TI.TA.TF.

Who, among the following fomed a secret society, called “Young Italy’ ?
(A) Oftto Van Bismark

(B) Giuseppe Mazzini

(C) Metternich

(D) Johann Gottfried Herder

OR

Who, among the following took power in the Southern part of Vietnam

after the division of the country ?
(A) Ngo Dinh Diem

(B) IHo Chi Minh

(C) Bao Dai

(D) N.L.F.
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2. 1789 wif & Ugel B ° Fr=feritaa 3 o forg waR = avenr o ot ot oft 7
(A) TR
(B)
(C)  Wr=ret amrfart &t Ferr
(D) T
HUAT

Frafafaa i @ ‘Fam w98 F9 99 9 97
(A) Tomaam o @ arel S e

(B) WTH H & aTet ST AT

(C) Torraamm = Trfeqa =im

(D) Torremmm % 28 s

Which one of the following types of government was functioning in France

before the revolution of 1789 ?

(A) Dictatorship
(B) Military
(C) Body of French Citizen
(D) Monarchy
OR
Who, among the following were known as ‘colons’ ?
(A) French citizens living in Vietnam
(B) French citizens living in France
(C) Educated people of Vietnam
(D) Elites of Vietnam
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3. Herem e 3 faer F ama S & et @ eaaet S e & faes
T e 3 Toru Treferfaa o & for ad 7 S o
(A) 1916
(B) 1917
(C) 1918
(D) 1919 1

In which of the following years Mahatma Gandhi inspired the peésants of
Champaran district of Bihar to struggle against the oppresive plantation
system :

(A) 1916

(B) 1917

(C) 1918

(D) 1919

4. T=afafes aywedim o wing aftaesl § @ fred ‘g sndien’ & e
% Tt fora man?
(A) TTER HAfETE
(B) AT Siferaer
(C) FHoredl (wierarmar) afeay=
(D) wETE (3=%) SAfEwH 1

In which one of the following Indian National Congress Sessions, the idea

of “Non-Cooperation Movement’ was accepted?
(A) Lahore Session

(B) Nagpur Session

(C) Calcutta (Kolkata) Session

(D) Madras (Chennai) Session
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FEUe # HIEW TH-ENRET 9 Efoiiag @ieet ® # fFadt smmf
IeqTEF 27

(A) i

(B) @medrEe

(C) wire-3rae

(D) %%

Kodarma Gaya-Hazaribagh belt of Jharkhand is the leading producer of

which one of the following minerals ?
(A) Copper
(B) Bauxite
(C) Iron-ore

(D) Mica

freiferfiaa Sumi 3 § Torw =t gartaor-21geer 5T ST 27
(A) FIa
(B) ugiferam

(C) i |
(D) SiATEH TFhel

Which one of the following fuels is considered environment friendly ?
(A) Coal

(B) Petroleum

(C) Natural gas

(D) Firewood



7. ot wen & oy & sei wnfug 5 4 Fefeifaa st @ 9 ®F g9 3R
Ul oftrerT femran 27
(A) ol JTe
(B) &SI
(C) =™ IeTed A
(D) wftEEA 1

Which one of the following factors plays the most important role in the

location of an industry in a particular region ?
(A) Raw material

(B) Market

(C) Least production cost

(D) Transport

8. ffafas uoi & & o9 w1 w s :wrefa 76w gww 27
(A) e
(B) “hieTshral
(C) wmg
(D) TR 1
Which one of the following is an inland riverine port ?
(A) Kandla
(B) Kolkata
(C) Mumbai

(D) Tuticorin
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10.
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frfafaa 7 & @ o “fradt @ed #1391 2, @ 1990 ¥ ik HEd g3’
(A) Siferfaan

(B) dsfewam

(C) ey

(D) T

Which one of the following is the ‘Third Wave’ country that had won
democracy in 19907

(A) Bolivia

(B) Belgium

(C) Bangladesh

(D) Nepal

Frfafea § @ e aifafom 1 5@ % Fefen & faars, 999 &1 g
Toran 7

(A) T 2at 4

(B) fFamia

(C) =r@ET™l % Hfw 2

(D) HEHRA

Which among the following led the struggle against ‘privatisation of
water’ in Bolivia ?

(A) Political parties |

(B) Farmers

(C) Factory workers

(D) FEDECOR



11.  Frefefas 3 @ g smem- =1 a8 1= 7 T 27
(A) wiread
(B) dHTeITED
(C) s

(D) &7 I 1

Which one of the following is considered the best form of government ?
(A) Democracy

(B) Dictatorship

(C) Monarchy

(D) Military Rule

12.  f=fafaa & & = @ s it a2 ?
(A) I AR 4 GOHdl 2l S Tl adl 2
(B) e ¥ fofg o 2
(C) 38 Hhoal § gl i 8
(D) I =afer =h AT 6 ST B |

Which one of the following is not the quality of democracy ?
(A) It promotes equality among citizens

(B) Ii takes quick decisions

(C) It improves the quality of decision making

(D) It enhances the dignity of the individual
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13. g1 % siice faf o wed # frefortiad § & ged 3UgH o S a1 87
(A) 92 HIY T T 2
(B) I U= gUEd e g

(C) o8 Hay T&d] aiiel 2

(D) & IR 1 S T 3

Which one of the following statements is most appropriate regarding
transactions made in money ?

(A) It s the easiest way

(B) It is the safest way

(C) It 1s the cheapest way

(D) It promotes trade

14. WA FROE §e FEfaiad 5 4 e gad a1 Icaea 87

(A) zarsat
(B) TUfPH Uz
(C) W

(D) et =g

‘Cargill Foods’ is the largest producer of which of the following in India ?
(A) Medicines

(B) Asian Paints

(C) Edible ol

(D) Garments
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15. Tmafafae & @ frg @ %1 @M Ffw Il & amdERT % forg R
ST &7
(A) T, TE.aTE,
(B) e
(C) T
(D) =T5.ud.3. 1
Which one of the following logos is used for standardisation of agricultural
products ?
(A) LS.L
(B) Hallmark
(C) Agmark
(D) LS.O.

16. R Pl 3aviier 1 ST & S 2 2, @) i 1 @ 98 fre = 3
TFEHT SR T F1ET?
(A) S =
(B) TST =&

(C) J==a™ e

(D) 3UNTeAT =R 1

In which one of the following courts a consumer should file a case if he/she
is exploited in the market ?

(A) Local court

(B) State court

(C) Supreme court

(D) Consumer court

32/1/1 11 " [P.T.O.



17. S h uehieRor shi gishan =1 guie it |
U7

I@Wqﬁﬁmﬁmww,ﬁ%m@ﬁ%ﬁﬁﬁaﬁmﬁ
feranfia fopa | 3

Describe the process of unification of Germany.
OR

Describe infrastructural projects which were developed by the French

colonisers in Vietnam.

18.  319EAN Fere el ¥ Hfit-offt ofim o= er? =i i o wa hifsm 3x1=3

Why did Non-Cooperation Movement gradually slowdown in cities?

Explain any three reasons.

19. 9 & 5 o oie s Y wg@ Uit o1 Seorg Fifsg | ge afah ie-
3EF i U Y e i fowrand fafa 1Y5+1%=3

Mention any three major iron-ore belts of India. Write any three

characteristics of the southern most iron-ore belt.

20. e ATg I R TR G S & 7 TEHT % L WHTAT i TIE ST | 1+2=3

How do industries pollute air? Explain 1ll effects of pollution,
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21.

22.

23.

25.

TR au1 § gel o9 I HERTE S TSd i HUE IcAeE 92§ i
Hehfwza 17 1 i Hron e Fif | 3x1=3

Why was cotton textile industry concentrated in the cotton growing belt of

Maharashtra and Gujarat in the early years? Explain any three reasons.

IS 2006, TUTE H SAlRaH % 10 U ST 261 JUH I | 3

Describe the movement for democracy in Nepal, April 2006.

Y Trehas TSI Gl o o1 F1 T81 38X Hehdl { %his M HR0T T8
St | 3x1=3

Why can’t modern democracies exist without political parties ? Explain any

three reasons.

A § THTeh gt 37R 39 Jaredt 71 o & fafia gdfis witewn gr
3310 7T o4 3Tt 1 T8 Hif | . 3x%1=3

Explain the three steps taken by the different authorities to reform political

parties and their leaders in India.

“Agifereh w9 & T I ITTBT AT AT 2, Tog TR 38 T =31 T
HHET ST 39 %9 1 giE o wfga Fifs | 3

“Democracy is seen to be good in principle but felt to be not so good in

practice.” Support the statement with an argument.

13 [P.T.O.



26. HEI @ B? Inyfe g ! I [fmg = v Fa) e e sar g 142=3

What is money ? Why is modern money currency accepted as a medium of

exchange ?

27. w3 gmeA % Ee Fe 29 % e % o w=i neeagul 27 W wno we
hifer | 3x1=3

Why is cheap and affordable credit important for the country’s

development ? Explain three reasons.

28. FEUEN FuET foRd weER 319 ITEl 1 gEL <9 H THR 9 87 U IR
wfgd T Hifem | 3

How are M.N.Cs. spreading their production across countries? Explain with

an example.

29, Ife WA GEFR SH F Raal & 3| | 9 A 2, 99 odt fefa o ==
T ? o i fargatt =1 wom ifsm Ix1=3

What would happen if Government of India puts heavy tax on import of

Chinese toys? Explain any three points.

30. “Suiferam 3 fEde wew § SAwad &1 T A o1, weg wemafi e § se
Fifer! gt w1 wamEw R on, @i i saawn i adhem 3R :ga-‘em
T EF | 39 HYA i e Fif | 4
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rgan
““forarae & Sean | Y W g % 0 | qediel gie © ATl 38 WA 1 g
#Hifsg |

“Napoleon had, no doubt, destroyed democrac:}; in France, but in
the administrative field he had incorporated revolutionary principles in
order to make the whole system more rational and efficient.” Support the

statement.
OR

“The division of Vietnam set in motion a series of events that turned the

country into a battlefield.” Support the statement.

31. Gfewa 3= R 3 ufd & @R 3ufae e A e e witafwma s
17 ToE Fifs | 2+2=4

How did people and the colonial government react to the Civil

Disobedience Movement ? Explain.

32, EEE Ud GaW Uit o ST 61 9K & 91 T8 3 =g AU %
fore q&i 7ufame 21 39 o &1 =R dehl |fed i it | 4x1=4

“Dense and efficient network of transport and communication is a pre-
requisite for national and international trade.” Support the statement with -

four arguments.
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33. AR % TV ¥ clihad o [ hl A R WHR AT R 87
WH%HWWI 4x1=4

How are some countries of the world facing the ‘challenge of expansion of

democracy’? Explain with examples.

34. 21 v8 =R ol =1 e Fifs, o S9aTEeT AT ISR Y v BT ] 1 4x1=4

Explain any four ways in which consumers are exploited in the market.

35. W @ feu o asEifaes tar-amatas 1 9 aevr- A R B ifFa e 2 =
<& ! e € 78 S i 7ee @ YTy 3T 3k el AW Hie W g

(A) 9% TM Sl faamst 1920 § 9 TEE e 1 e g7 om|

(B) =% ¥ Sel Toria | Rl w1 3Tiere g o) 2x1=2
T

Freaferfiam wet =t et w3 s forgt & forame i et A forflre

(i) =RI-TRT— STel ¥ TG ST=Ie o1 GuTe T 741 97|

(ii) 3THAER — W&l SoratdTen ST ¥ 721 |
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l

Two features - A and B are marked in the given political outline map of
India. Identify these features with the help of the following information and

write their correct names on the lines marked in the map :

(A) The place where Indian National Congress Session was held in

September 1920.

(B) The place where the Peasant Satyagraha was held in Gujarat.
OR

Locate and label the following items with appropriate symbols on the same

map :

(i) Chauri-Chaura — The place of calling off the Non-Cooperation
Movement (N.C.M.) .

(i1) Amritsar — The place where Jallian Wala Bagh incident took place.

e : Ffafad gw Feaa gidw whenfiit & fou, awfe gedh v den 35 %

TS :

(35.1) femmr 1920 # foF wm W ardlm o & w1 AfvEe gon

o1 ?

(35.2) 39 TN 1 99 FA19Y, ST81 TSI H FRam1 o1 aeme g3n 91 | 1+1=2
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Note : The following questions are for the BLIND CANDIDATES only, in licu
of map Question Nos. 35 :

(35.1) At which place Indian National Congress Session was held in

December 19207

(35.2) Name the place where the Peasant’s Satyagraha was held in

Gujarat.

36. 9RA * feu U Ui Yar-aetE § dF aan A B 3 C 3ifra fFro T £
T ALuT St vEeH = € et 1 uee ¥ SFifsu 3R 39 gEl 9 gt
q’(@ﬁﬁﬁﬁ@ﬁﬂ(%’?@t{:

(A) B-3T9%F @H
(B) o &
(C) T.H. |7 G 7 & A< BIH 3x1=3

AT
frmfefaa 72l =1 3ot amfes # sugaa el @ foarsy i 37 am fofay -
(i) g9k —wirer 3 geara 65
(i) T — VTTaeR Sstl A

(iii)  TemmRETITH — T 9T
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Three features - A, B and C are marked in the given political
outline map of India. Identify these features with the help of the
following information and write their correct names on the lines marked in

the map :

(A) Iron-ore mine
(B) Oil field

(C)  Terminal Station of N.-H. 7
OR

Locate and label the following items with appropriate symbols and write
their correct names on the same map :
(i)  Durgapur — Iron and Steel Plant

(i1) Kaiga — Nuclear Power Plant

(i11) Vishakhapatnam — Sea Port

Fre: fmfafaa um Faa giedia uhenfeat & fou, gt qadt w= =20 36 &

EIER R

(36.1) TR HETT GEET 7 F ad 390 €A 1 A7 Saig |

(36.2) T AT Swil G997 Fre T A fem 2 7

(36.3) 39 TSY 1 ATH a1z, Forem g aren 3 35 997 foa 2 | 1+1+1=3
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Nate : The following questions are for the BLIND CANDIDATES only, in licu of

map Question Nos. 36 :
(36.1) Name the northern terminal station of N.H.7.
(36.2) In which State Kaiga nuclear power plant is located?

(36.3) Name the State in which Durgapur iron and steel plant is located.
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Q. No. 36
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